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101|R#A7 L 49 11 38| Kg |EE 2,700 1,404| K& 3,240 540
102|&JE 7= L 2,180 2,180| Kg S - BIE 3,305 579
111|&EEF £ 314 44 270 Kg |=4 1,404 1296|788 - &40 1,728 338
114|&5EFE 220 220| Kg E)I| - &E 17,053 432
117[1E 10 10| Kg R 3,780
121|pblE & 73 73| Kg = 4,320 2,160
134[#= = 137 107 30| Kg |- = 3,024 1,000| & 2,592 1,944
137|&5ES. < 372 295 77| Kg |k% 4,860 1,620 BER 7,754 3,888
138|HA % 2 40 40| Kg FfE 3,024 2,376
140(5 I 20 20| Kg imE 45,360 16,200
147|E2 O 133 133| Kg KI5 8,910 4,000
168|BIEH AL H 329 329| Kg BERE 2,106 1,188
203|/hd L 54 54|  Kg FfE 324 270
205|3L8 L 180 180 Kg RI5 540 432
206| = 1F 420 420|  Kg RI5 864 475
208|m>% 60 60| Kg R 2,376 2,160
210|1F ALy 60 60 Kg |Ri& 8,100 4,320
212|&5E.3Y 1,251 1251 Kg EIl - B1E 2,052 1,242
251|< B %<3 739 739|  Kg Bh 5,902 2,673
252|L0AEECH 111 69 42| Kg |#M 2,970 =] 837 281
254|EhRECH 5,427 5,427| Kg Mh 3,175 1,058
303|1A 220 400 400| Kg RI5 500
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315|7: B9 6 60 60 Kg =1, 1,215 945
319|2h o 170 170 Kg & 2,484 675
332|= 13 WA =EF 218 218 Kg Bl = 1,944 1,782
351(4EH 50 16 34| Kg [3&E 3,240 =, 10,800 3,618
35411FxE<Y 44 441 Kg FIE 1,728 1,134
355(mp Y 100 100 Kg A - BE 1,728 600
356(L L& 35 35 Kg SER 1,512 1,080
357|7RE 8 8] Kg = 1,944

362(H & 316 316 Kg IN= 4,104 540
401|H W 14 12 2| Kg [IRE& 1,080 972|Ix B 1,620

4025 E 15 15| Kg FAN 5,292 4,536
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512| A& AL 30 30| Kg b 1,400 1,390
523| A EARAT 2 O 130 130| Kg =] 4,200 1,350
54| ARE & 2V 65 65| Kg Bh 1,920 1,440
5h4|E X BA AR 50 50[ Kg b 820
558| 146 146 Kg b 1,264 972
560|487 2 255 255| Kg =] 2,680 1,030
566|455 HE A < 46 46| Kg b 4,100 4,000
5764 X 1F 322 322| Kg B - A 1,674 980
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70110 BA 287 119 168| Kg [|EE 1,566 1,134 & 2,700 810
705|7=2< ¥ 5 5 Kg B 8,640
709(Wb L AT 10 10 Kg FiE 1,305
755(Fd L 18 18 Kg B 710
76l|1b Y AEE 12 12 Kg FJE 2,314
763\ Z AMC 21 21 Kg |&E 4,701 3,384
801 [3BAT = 1S 520 520 Kg gl 1,728 594
802 1 30 301 Kg blo ] 1,242
805 = 1E 238 238 Kg bF 1,058 432
807 [1BHDF 406 406 Kg JbiF 9,612 2,700
810|FAKF 130 130 Kg bF 2,700 1,350
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